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(iii) Third Part - AG 3 - Elements of Animal Husbandry
and Poultry Farming - 60 Marks - 141-200 Question
Each question contains 1 marks. All question are compulsory.
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AG-1

Physics, Chemistry,
Mathematics and Biology

A ray of light incident normally on a
isosceles right angled prism travels as
shown in the figure. The least value of
the refractive index of the prism must
be-

A 2 B. V3
C. 15 D. 2

A current of 2A passing through
conductor produces 80 J of heat in
10 seconds. The resistance of the
conductor is-

A. 05Q
B. 2Q
C. 4Q
D. 20Q

A bar magnet is oscillating in the earth's
magnetic field with time period T. If its
mass is increased four times, then its
time period will be-

A. 4T
B. 2T
C. T
D. T/2

Wiferer YT, TETI VT,
TTfuTe uet Shta e

Uk HHehHIUT T FHSETE fSeH oX Teh SehTRT
feRtoT SAfyreTreEa ATafad it @ (FemgEm),
a firsw 3 SToadies ST =aw 71 2T
-

A 2 B. V3
C. 15 D. 2

foref} =rmeter @ 2A ST T 10 YU dh
JaTfed g 9T 80 J 3T 30~ Bidl & i

A
B
C. 4Q
D. 20Q

T TUS eI Qe o Trrehid & H ale
oL T&T &| R AlcehTel T 81 T 3Eeht
ST =TT oL foT ST el et St
TSt B SR

4T

2T

T

/2

Cow>
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A force of 98N is required to just start
moving a body of mass 100 kg over ice.
The coefficient of static friction is-

A. 0.6
0.4
0.2
0.1

O o w

A watch shows time as 3:25, when seen

through a mirror, time appeared will be-

A. 835
B. 9:35
C. 7:35
D. 825

The resolving limit of healthy eye is
about-

A. )
T or (ij
60

B. 1"
C. 1°

D. (ij"
60

A piece of wood is floating in water.

When the temperature of water rises, the

apparent weight of the wood will
(T>4°C)-

A. Increase

B. Decrease

C. May increase or decrease

D. Remains the same

98 g2 I I ah W 100 foRUT
ST i Stk TTfrefiet s o fordr
v §| T e S0 TR T AT BT

0.6
0.4
0.2
0.1

c o w>

Teh oISt § A fareh T8 3:25 8 S 380
A gUT H ST ST § af T fee-
8:35
9:35
7:35
8:25

SO w>

e 3G ohi forsas iay o Sidt 2-
A.
1 s [ij
60
B. 1"
C. 1°

Dl (ij”
60

THE T T ST S H L T 2l STt T
19 TG I ARSI T STTHTHT 9T
(T>4°C)-

A. @

B. =M

C. TRATH ThdAT S
D

. HHE &
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10.

11.

Two masses of 10 kg and 5 kg are
connected to a pulley as shown. What
will be the acceleration of the system
(g=acceleration due to gravity)

A g
C. ¢/3

B. g/2

D. g/4

A perfect black body is one whose
emissive power is-
A. Maximum

C. Unity

B. Zero
D. Minimum

Which of the following has maximum
specific heat capacity?

A. Water B. Alcohol

C. Glycerine D. Qil

In the figure shown, the effective

capacitance between the points A and B,

if each capacitor has capacitance C, is-

C
Aj | |
C \/ lc
[N
a B
A 2C B. 9
5
C. 5C D. E
2

10.

11.

10 kg T 5 kg % A 5o (FRATER)
ot & St 7 8| e @ e '
(g = TT&col 1T TeOT)-

A g B. 0/2

C. 9/3 D. g/4

quf et U it IeErsi apFaT Bl 8-

A. SRR B. I

C. & D. $H U HH

= o o forereh farf3me soum enfiar safereram

&

A. S B. Ueshisdd

C. faed= D. do

= o o A qem B & sfter et enfiar

gl afe gcies Teier it enfear C 2-
C

A I

DN L
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12. At a certain distance from a point charge 12, fopeft fermg smeler & weh Ffera g o feorega
the electric field is 500 V/m and the & 500 V/m 9T {99 3000V ® 1 3 Ffea
potential is 3000V. What is the A et 2
distance? & '

A 6m A. 6m
B. 12m B. 12m
C. 36 m C. 36m
D. 144m D. 144 m

13. A potentiometer wire, 10 m long has 13.  ue fovre udt & AR 6t eaTg 10 Wi v
resistance of 40Q). It is connected in g 40Q) ® 1 U SR ST Te
series with a resistance box and a 2V 2 Fee E1 A8 F arer Aoy § SheT ST
cell. If the potential gradient along the . BT |
wire is 0.1 mV/cm, the resistance d A S AT
unplugged in the resistance box is- 0.1 mV/cm &1 1 Sfcrrer serd & Fehred 70

T T TfeRIe BT
A. 260Q B. 760Q

A. 260Q B. 760Q
C. 960Q D. 1060Q C. 9600 D. 1060Q

14.  cCalculate the amount of heat (in 14.  0°C W Ry 50 gm o1 T 100°C sl 99 o
calories) required to convert 50 gm of qREfid s /e ST 3T (AT H)
ice of 0°C to steam at 100°C- s >
A. 31000 cal B. 32000 cal A 31000 cal B. 32000 cal
C. 36000 cal D. 42000 cal C. 36000 cal D. 42000 cal

15.  Aniron rod of length L and magnetic 15. L owamg o M IRTchi SATE0T o |lS ohl B
moment M is bent in the form of a semi ) M o1 AR ®9 T e & ar
circle. Now the magnetic moment will ' N ’
be- ST Trerhid ATl 2 -

A M A. M
B. 2M B. 2M

T s
cC. M c. M

T T
D. Mz D. Mn

SPACE FOR ROUGH WORK / T @t & forar srire
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16. Consider a compound slab consisting of 16.

two different materials having equal
thickness and thermal conductives

K and 2K respectively. The equivalent
thermal conductivities of the slab is-

A. 2K
B. 3K

C. 4

17. The effective resistance across the 17.

points A and B is-

HHT HISTE & W forfy=T warert sht ot ot
fSrTehY SoHiar =rTeteha ™ sHETT: K U6 2K ©,
i ST HIh g SIS TS, THoh ool
I <TeT T B

A. 2K
B. 3K

C. 4

A B
A 20 A 20
C. 0.5Q C. 050
D. 5Q D. 5Q
SPACE FOR ROUGH WORK / &% &Td & for&r sre
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18.  The mass M shown in figure oscillates

19.

20.

in a simple harmonic motion with
amplitude A. The amplitude of the point
Pis-

| 5550 —e— TN NN\
N

Kl + K2
D. KA
Kl + KZ

An astronomical telescope has objective
and eye-piece lens of powers 0.5 D and
20 D respectively, its magnifying power
will be-

A. 8 B. 20
C. 30 D. 40

Three electric bulbs of 200 W, 200 W
and 400 W are shown in figure. The
resultant power of the combination is-

200W 400W
D @

e

C o0 w>
SN
o
S
=

18.

19.

20.

o ¥ wefia goam™ M &R 319 7Tt o
T &, et S A € | foreg P ot s

N\
NN
NN
K1+K2
D. KA
K1+K2
Teh Qi1 guali o Afgsaeh ST et

ot oTfrat sHEST: 0.5 DU 20 D & | 38eht
JTeredT ermar Bt
A. 8
C. 30

200 W, 200 W 3R 400 W & i fergg
o FeRTam SIS &) 39 9ye i
T ek &-

200W 400W

B. 20
D. 40

Co0ow>
SN
S
S
=
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21. Among the following which soil has 21, fyefciRad ® & fore HaT sl STTemeT &rwar

poor water holding capacity. % Brdl 82
A. Clayey Soil A. oot gt

B. Loamy Soil B. %wa@gﬁ@

C. Sandy Soil C. a@wﬁq@‘

D. Sandy-Loam Soil D. aqs ame fg!

22. Four sparingly soluble salts having same 22. = o3 T quH forerIaT UME 7 Ik

solubility product are given below. IR 31Ty forer Saur &

(m AX

(1) AX

1) AX

() A% () AXs

(Iv) A)X

o (V) ArXg

Their solubilities in a saturated solutions ) ]
follow the order: Wﬁmﬁﬁﬁm%ﬁm%
A IV>ITE>ITTE>I A IVSIHI>I>I

B. IV>I1I>1>1l B. IV>1I>1>11
C. H>1>1V>I C. U>M>IV>I

D. HI>1>1I>1V D. lI>I>11>1V

SPACE FOR ROUGH WORK / &% &Td & for&r sre
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23.  Consider following statements- 23.

(@ Humus is homogeneous complex
organic component of soil

(b) The presence of organic matter in
soil helps to improve fertilization
capacity of soil

(c) The optimum pH of soil for plant
growth is 2.2 t0 5.2

(d) Colloidal properties of soil
decreases absorption capacity of
soil.

(e) The percentage of mineral matter in
soils is about 45%

Wrong statements are-
A. (c)and (d)
B. (a)and (b)
C. () and (c)
D. (d)and (e)

24. \With reference to chemical fertilizer 24.

which statement is wrong?

A. Ammonium sulphate should not be
used frequently otherwise soil
becomes acidic

B. Calcium ammonium nitrate (CAN)
does not make the soil acidic

C. Urea contains maximum percentage
of nitrogen among nitrogen fertilizer

D. The best proportion of NPK
fertilizer for flowering of plants is
4-8-2

fot e W o Hifsa-

(a) BLTE HaT 1 GHITT STTCA HTsi(-h o
BT 8

(b) T&T H IR el e qaTef HaT 3h
Joie YTk H YU 8 HETHAT T 8

(c) It 3= B o o gaT o
TR de= 2.2 & 5.2 BT 2

(d) T T SHIATFSH T[0T H&T T ST
&THT SRl A LT B

(e) a1 § @it qaref il Ifcrrd ST 45%
BT 8l

TeAd T 8-

A. (o)W (d)
B. (a)W (b)
C. @W(o)
D. (d) W (e)

TR 3aeh o He oh ST=qid i T
Y TTAd 87

A. AEEH GThe T TN S-SR A=)

HTAT TTE STTT GaT ST Jaher T
HESIGIE

B. hfcyrm sTaifaem Tgee (CAN) HaT
ST T ST 2

C. ATEIISH IaTH o Hed AT H AELIS
o1 Ttk wferra g 21

D. IR () & FYHA & o o
NPK 35T 3T S W T 4-8-2

T 2l

SPACE FOR ROUGH WORK / &% &Td & for&r sre
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25.

26.

217.

Consider following statements:

(a) Rancidification of oils and fats is
due to hydrolysis-oxidation

(b) Saponification value of oil and fats
is directly proportional to molecular
mass.

(c) Linseed oil has iodine number
above 120 is used as drying oils in
paints industry.

(d) Oils contain large proportion of
glycerides of higher carboxylic acid
and unsaturated fatty acids.

(e) Cetyl trimethyl ammonium
bromide (CTAB) is an anionic
detergent.

Correct statements are-

A. (a)and (c) B. (b) and (d)
C. (d)and (e) D. (b) and (e)

Carboxylic acids do not give
characteristic reaction of carbonyl group
(> ¢ = 0) because of-

A. Attached alkyl group

w

Polar nature

o

Resonance

o

Hyperconjugation

Ethyl alcohol can be manufactured from
starch by process of fermentation.
Which enzymes stepwise complete the
fermentation reactions?

A. diastase, invertase, zymase
B. maltase, zymase, invertase
C. diastase, maltase, zymase
D. diastase, zymase, lactase

25.

26.

217.

foe et  fomm Fifsmr:

(a) O U T o foleha TI-EaT T HR0T ST
- JTRHIRTT B

(b) A TSl ST o HTSTHTOT W SR 6
HETTC T &

(c) TorTeite, dt o1 S9N Ue JemT | e
e o T H TN 21T & T foh SaehT
SR T 120 % ST BT 2|

(d) T T 3= T 37T o T TOISS e
STEH 3T o I ST &Il o

(¢) Tersarers fremdar sTifem sirse
(CTAB) Ush KU {~eh STIHTSIe |

CHEDEES

A. ()W (c)
C. (d) W (e)

B. (b) W (d)
D. (b) @i (e)

FT eI STFA e 998 (> ¢ = 0)
T AT&ITOTeh SATITRAT et 3d &, STt ShIuT
2

G Tfeshed 998

T

Ao

AT

D

C 0o w>»

T § TR Ueehlge ol IcdTe fohve
SfshaT & foham ST weka 21 fepva stfsrforam
B UGTIHR 1 § goed R & Oof ohid &2
A. S, 39H, SIFHT

B. HIeld, R, 3aH

C. SHH, Hledd, SIIHY

D. SRIEY, STR™HY, cidd
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28.

29.

30.

Match List-1 with List-11 and select
correct answer using following codes:

List-1 List-11
(@ pHof0.1Msodium (1) 7.0
acetate
(b) pH of 10~ M HCI (2) Zero
(¢) pH of humanblood (3) 7.38
(d) pHof 107 M NaCl (4) 8.78
(e) pHof0.5M H,SO, (5) 6.70

A. a-4,b-5,c-3,d-1,e-2
B. a-3,b-5,¢c-4,d-2,e-1
C. a-1,Db-2,c-3,d-4,e-5
D. a-2,b-1,c-3,d-5,e-4

Among the following which is the
correct statement?

A. Amylose is a component of
cellulose

B. lodine test is shown by glucose
C. Starch is a polymer of o-glucose

D. Starch change into disaccharides in
presence of zymase

Consider following carboxylic acids-
(@) CH=C-COOH

(b) CH, =CH-COCH

(c) CH3-CH,-COCH

Acid strength of (a), (b) and (c) follows
the order-

A. a>b>c
B. a<b<c
C. a=b=c
D. a=b<c

28.

29.

30.

eft-1 o1 GEft-11 | gHferd 3 e e

TRTEAT § TE ST T hifsr
a1 -1
(@) o.1MEfem e (1) 7.0
1 diee
(b) 107'M HCl ®fiea  (2) A
(c) A Th 1 fiue (3) 7.38

(d) 1073M NaCl ®rdiear  (4) 8.78
(e) 0.5M H,SO, s dig= (5) 6.70
A. a-4,b-5,c-3,d-1,e-2
B. a-3, b-5, c-4,d-2,e-1
C. a-1,b-2,c-3,d-4,e-5
D. a-2,b-1,c-3,d-5,e-4

1T o e i 91 | e 12

A THEAY, §AE I HEH BT

B. TR SRS ufteter Yaf¥ia o &
C. R o-TCHE T Tgh BraT

D. STHHY o U § W SHushEs §
gfiafdd grar @

fo=T Shrettferaferer 3t ot fomm Fifsrr-
(a) CH=C-COOH

(b) CH, =CH-COOH

(c) CH3—-CH,-COOH

(a), (b) T (c) o T TeTeAdT T Tl shH
g

a>b>c

a<b<c

a=b=c

a=b<c

Cow>
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31.  Consider following reaction-

32.

33.

H,0 H Cl
CaC, X Nz000e V! zo0¢ 2
[X], [Y] and [Z] are

[X] [Y] [Z]

A. C,Hy, C,H,, CCly
B. C,H,, CHy, C,Hg
C. C,Hg, CoH,, CHCI,
D. C,H,, C,Hg, C,Clg

Among the following which are
mismatched?

(@) Vitamin E - Tocopherols
(b) Vitamin K - Retinol

(c) Vitamin C - Ascorbic acid
(d) Vitamin H - Biotin

(e) Vitamin B2 - Thiamine

A. (a)and (c)

B. (b)and (c)

C. (b)and (e)

D. (a)and (d)

0.63 g of a dibasic acid is dissolved in
water and the volume is made up to
100 ml. 20 ml of this solution required

10 ml of %NaOH for complete
neutralization. The equivalent mass of
the acid is-

A. 126

B. 315
C. 63
D. 189

31. A arfyyferan v fomm Sifsr-

32.

33.

H,0 H,
CaC, XIS 300°C

[X], [Y]wd [Z] €

[X] [Y] [Z]
CyH,4, CoHy, CCly
CyoHy, CHy, CoHg
CyHg, CoH4, CHCljg
CoH,, CoHg, C, Clg

cl,
400°C

[Y] 4

o o w >

et o et ot gaferd et 2
(a) TRIMT E - it

(b) ffim K -eAta

(c) fofim C - w=rifeler 3t
(d) i H - =

(e) Toaftm B, - arrfa

A. ()W (c)
B. (b)) (c)
C. (b)w (e)
D. (a) @ (d)

o TR ST/t T 0.63 TITH STt | Bt
AT TS el ST 100 ml ST 71§96
foreTa o 20 ml 3T qUT IaTHI-THT 3

%NaOH % 10 ml st SATETTIHdT Bl 2

3TFA T oo IR B-
126
315

63
189

Cow>
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34. Sulphur content in cystine is 26.7%. If 34, o H gewt it gfaerd 26.7% 21 3
cystine contains two sulphur atoms per e % 9fy 3707 § Gt 3 ST WE AL at
molecule, the molecular mass of cystine > ! °
: . FErEIT =T STUIT @ 2-
is approximately- N
A. 120 A. 120
B. 240 B. 240
C. 360 C. 360
D. 60 D. 60

35. Bohr's model can explain- 35. SR HTSe SATEAT S Tehell -

A. Spectrum of hydrogenation only A. I TTEGISH AT o JUISHH

B. Spectrum of hydrogen molecule B. gﬁ@a:raqugé;aﬁ;ﬁqw

C. Spectrum of hydrogen ion C. ETZSISH AT o FUIshH

D. Spectrum of any atom or ion having D. ¥ac U Soider Ik FRef) aemmoy A
one electron only " W\’ °

36. Consider following statements- 36.  foe el W o fifsa-

(a) a-decay always produces (a) o871 & EAST ARG Rl g
isodiaphers 5
(b) B -decay always produces isotopes .
(b) P -&7 T ghe gt Ffifd gar 2
(c) Nuclear forces are short range strong !
forces () TR S TR oIt oA 81t ©
(d) Nuclear radius is always expressed (d) Tivehta Brsa ga S § sk fopar
in fermi. ST e
(e) Radioactive disintegration is (¢) Yo forerems arusew amifre arar &
temperature dependent. .
TTeTd e -
Wrong statements are-
A. (b)and (&) A. (b) T (e)
B. (a)and (e) B. (a) T (e)
C. (c)and (d) C. (0) (d)
D. (a) and (b) D. (a) w (b)
SPACE FOR ROUGH WORK / T @t & forar srire
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37.

38.

Candles contain a mixture of- 37.

A. Beeswax and paraffin wax
B. Beeswax and Stearic acid
C. Paraffin wax and stearic acid

D. Higher fatty acid

The IUPAC name of following 38.

compound is-

CH3-CH, -CH=CH-C=CH
A. hex-1-yn-3-ene

B. hex-5-yn-3-ene

C. hex-3-en-1-yne

D. hex-3-en-5-yne

ATt 8 ufderd firsror g &-
. MY T HIH Te G A
. Y] W e WA SR
. TR A T T S

39 I 3TFA

U 0O ®m >

f {71k =T TUPA C ATTHeR0T B-
CH3—-CH, -CH=CH-C=CH
A. TH-1-3EH-357

B. &-5-3M-3-39

C. T-3-§4-1-317

D. T9-3-3-5-3T8

39.  The coagulation power of an electrolyte 39.  uw forRId A=Y hl Tehra ek HIAT ST
is measured in terms of- g
A. Protective value A, WY
B. Gold number B w@uiEEd
C. Flocculation value C. Tl T &
D. Congo rubin number D. FiM sl aer
40.  Among the following which one 40. =1 3 HEA I Teh T W ATII(E o A1l
decreases with rise in temperature? Tedr 89
A. Molality A. T (WieterdT)
B. Molarity B. HIRE (Wewdr)
C. Mole fraction C. TS ShafR (HTeT JNTST)
D. Percentage by weight D. WR yfceraar
SPACE FOR ROUGH WORK / % & & {o13 STiTg
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41.  Which term of the Arithmetic Al gMiaT a5, 13,21, ....... & forg U T

progression 5, 13, 21, ........ 1s 1817 a7 181 82
A 15" A. 153t
B. 27" B. 27af
C. 23" C. 234t
D. 24" D. 243t
42.1f logy (xy) =a, then logy (xy) is - 42. afe logy (xy) =a, T logy(xy) 2 -
A1 A1
a a
B. a B. a
a-1 a-1
c. 1 c. 1
a-1 a-1
D. None of these D. @ Hig Tl
43. If sinx+siny =3(cosx—cosy), then 43. =fg sinx +siny =3(cosx —cosy), ar
the value of sin (3x) +sin (3y) is- sin (3x) +sin (3y) 1 UM &-
A. 0 A. 0
B. 1 B. 1
c. 2 C. 2
5 &
D. None of these D. H 9IS Tl
44. The ratio of the 7" to the 3" term of an 44. T E1H. | EIad 98 H A0S H FA
A.P. is 12:5. The ratio of 13" to the 4" 12:5 %, 1 13 5 98 1 4 & 98 § ST
term will be- - °
A. 23
A. 23
B. 57 B. 57
C. 103 C. 10:3
D. 67 D. 6:7

SPACE FOR ROUGH WORK / &% &Td & for&r sre
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45. g, b, c are three distinct real numbers 45. a, b, ¢ A STHT-AAT ITEdfaeh ST &

and they are in GP. Ifa + b + ¢ = xb,

HARFET. & (GP)HEl Ak a+b+c=xb,

then- qs-
A. x<-1orx>3 A x<-1 39ET X >3
B. x<-3orx>5 B. X<-3 3l x>5
C. x<-2o0rx>6 C. X<-2 HAYAT X>6
D. None of these D. 38 ¥ s T
46. How many terms of the A.P. 1,4, 7, .... 46. I 715 UE R o fqCET. 3. 1,4, 7, ...
are needed to give the sum 715 ? o Teha ISl i STTavrehdT 22
A. 18 A. 18
B. 25 B. 25
C. 15 C. 15
D. 22 D. 22
al. The value of 3Y3x 39 x 327 . 00 at. 33, 39 gl27 o T HMH 2-
1S- A. 3
A 3
B
B. 3 V3
C. 2 C. 2
D. {2 D. V2
48. 48.
If Iogab:l, Iogbc=1 and afe Iogabzl, Iogbc:l?rgﬂ
2 5 2 5
log. a :g, then the value of k is- log. a =g ®, A k SHTAM &-
A. 10 A. 10
B. 15 B. 15
C. 20 C. 20
D. 30 D. 30

SPACE FOR ROUGH WORK / &% &Td & for&r sre
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49.  The median of the series of data : 15, 3,
8,10, 22,5, 27, 11, 12, 19, 18, 21, 13,
14 is-
A. 13
B. 134
C. 135

D. 145

50. A sample is taken of the ages in years of
12 people who attended a movie. The
results are as follows : 12, 10, 16, 22,
24, 18, 30, 32, 19, 20, 35, 26. To the
nearest year what is the standard
deviation of this sample?

A. 6 years
B. 7years
C. 8years
D. 9years

S1.  Sum of the first two terms of a G.P. is
12. The sum of the third and the fourth
terms is 108. If the terms of the G.P. are
alternately positive and negative, then
the first term is-

A -6
B. 6
C. 4
D. 4

52. The log 2=0.30103 and log 3=0.47712,
then the number of digits in 620 is-
A. 16

B. 17

C. 18

D. 19

49.

50.

ol.

52.

1 srreret e afmem 2 ¢ 15, 3, 8, 10, 22,
5,27,11,12, 19, 18, 21, 13, 14

A. 13

B. 134
C. 135
D. 145

fOher @ a1t 12 SARAT o 39 T Ifdest
9 4 forar siar 8 | fores ufom e 2
12, 10, 16, 22, 24, 18, 30, 32, 19, 20, 35,
26. Tehedq 99T § I Ufdes! o1 A
ICEREECINY

A. 6T8

B. 794

C. 8a%

D. 99%

U 71,81, o SO a1 &l ST AT 12 | e
e = U T AT 108 € | AR T8 F e
TR GTcHeh T SRUTTcHe &1, dl JoH U8
2

A. 6

B. 6

C. 4

D. 4

afg log 2=0.30103 AT log 3=0.47712,
620 1 sier i T B-

A. 16

B. 17
C. 18
D. 19
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53.

54.

55.

56.

If A+B:§, A.B>0, then the

maximum value of tan (A) x tan (B) is-
A 5 L
3
C. © D. None of these
Quartile deviation is nearly equal to S4.
(c=S.D.)
A.
c B. gcs
2
C.
gcs D. None of these

The value of 55.

Ccos ycos(E - xj —cos(E - yj COS X
2 2

. T . T .
+SIn ycos(z—x}rcosxsm(z—yj, IS

zero, if-

If 2sinx —cos2x =1, then, sin x = 56.

A 145
2

B. _1+45
2

C. 143
2
D. None of these

53.

aﬁA+B=g,A,B>0,?ﬁ

tan (A) x tan (B) =T ATeehad A 2-
A 5 L

3
C. » D. 38 9 IS &
T TreIT T A1 T S &
(c=S.D.)
A G B. EG

2
¢ 25 D. i A HE A

cos ycos(E - x) - cos(E - y) COS X
2 2

+sinycos(g—x)mosxsin(g—yjEm
HH Y 8, Afe-

A. x=0

B. y=0

C. x=y

D. 3
4

gfe 2sinx —cos2x =1, dl sin x =

A 1+5
2
B. _1+5
2
C. 1+43
2
D. 7 &3 T&
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202062-VZGG-ENT-GM-M 19

Set - A



57 If cosx +sinx =~/2 cosx,, then 57, 3f¥ cosx+sinx=~2cosx T,
tan? x + 2tan x is equal to- tan? X + 2 tan X kT HIT S -
A. 0 A 0
B. 1 B. 1
C. 2 C. 2
D. None of these D. &0 ¥ IS Al
58. The value of tan (130°) x tan (140°) is 58. tan (130°) x tan (140°) T O SR &-
equal to- A 1 B 1
A1l B. -1 ' S
C. 0 D. o C. 0 D. ©
59. ) . 1 59. ) . 1
If sin(a+pB)=1and sin(a—p) =5 afe sin (o +B) =1 T sin (o —P) =5
where o4f3 € [O, g} , then SH P € [0, g} ,ql tan (a+2B) =
tan (o +2B) =
A 43
A 3 B /5
B. _/3 - V3
C. 1 c. 1
Na) V3
D. 1 D. 1
73 J3
60. 1) . 60. 1 5
The value of log. > (%) is- log: /> (%j EARICES
A +2 A 12
B. -2 B. -2
C. +6 C. +5
D. 5 D. -5
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61.

62.

63.

64.

65.

Silk contains protein known as-
A. Fibroin

B. Casein

C. Sericin

D. (A)and (C) both

The typhlosole in earthworm is related
to-

A. Respiration
B. Excretion
C. Absorption
D. Reproduction

Which of the following is a product of
Calvin cycle?

A. One Glucose
B. 18 AD.P.

C. 12N.AD.P.
D. All of these

Which type of classification system is
APG classification?

A. Natural
B. Artificial
C. Semi Atrtificial
D. Phylogenetic

In honey bee, drones are produced by-
A. Fertilized eggs

B. Unfertilized eggs

C. Larva fed with royal jelly

D

. Fasting larva

61.

62.

63.

64.

65.

W § WA BT 8-
A. HIESITE

B. &dM

C. aid

D. (A)Td (C)3Hl

FT H TTFFAI Hel eI BT 8-
qGT Y

. JeEs |

. IO Y

ST

C 0w >

foT o & I hfca =rsh 1 3cuTe 87
T TR

18 T2,

12 TSl

SR aft

c o w >

T Y St affertor feT 5 O forg TR ot
CHIESU RS
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66. Basal placentation is found in the plants 66. srur sismueT=E e 1 § e et
of which of the following family? e § I ST 82
A. Cruciferae A FERT
B. Malvaceae B. HIeaHE
C. Solanaceae C. dromdt
D. Compositae D. et
67.  Which of the following group of 67. {3 el 1 i |1 g |t Hreed &
characters is present in all chordates in SrerT <bY foreft 7 Fopet rareen & fiyerar 82
some or other stage in their life? . .
. : A. T Tl UT T FA TR
A. Mammary glands, hairs, and gill ’
slits B. IR, FAM SR TH I8 ATATRR
B. Notochord, gill slits and dorsal GIE=CAKES
tubular Nervous system C. SIdHTS, STk U S AT AT
C. Notochord, seals and ventral tubular .
nervous system .
D. Gill slits, ventral solid nervous D. e ST, e 3 ffesreht o T
system & Notochord EICAEAES
68. The initial stage of cellular respiration 68. fom o & forg T W ISR e Y
takes places in which of the following? TRRTeR ST U1 STt 89
A. Cytoplasm A, FifEH ET
B. Mitochondria B. HTEeIhivgAT
C. Chloroplast C. FARRL
D. Matrix D. adled
69. Which of the following is not a 69. T o & I A Aegur A fguTiden uxdt
character of Isobilateral leaf? T 80
A. Amphistomatic A, ST
B. Undifferentiated Mesophyll B. 31faafed qoimeias
C. Only Hypostomatic C. Fad T
D. Bulliform cells D. gaﬁq;m‘aﬁﬁam
SPACE FOR ROUGH WORK / T @t & forar srire
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70.

71.

72.

73.

The type of mouthparts found in 70.

grasshopper is-

A. Biting and Chewing
B. Chewing and Sucking
C. Piercing and Biting
D. Biting and Lapping

In earthworm the region called as forest 1.

of nephridia is-

A. Pharyngeal region
B. Clitellor region
C. Typhlosolar region

D. Intestinal region

Chromatids separate in which stage of 2.

Mitotic division?
A. Prophase
B. Metaphase
C. Anaphase

D. Telophase

How many types of genotype are 73.

formed in F2 generation of Dihybrid
Cross?

A 9

B. 3
C. 4
D. 1

g # R ST A T o T

. Sh1e I T I

A

B. =& Td TE dTcd
C. 99 Ug e a1
D

. ohTed T4 <TeH JTed

FTT 3 39 & Rl ATRISAT T STt T
ST 8-

. SifeerreT &

. AT &

. TEFATEICH &7

3T &

O 0 W >

T forTe bt forer STareer & 31ef 1o
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74.  Tetradynamous condition of stamens is

75.

76.

77.

found in which of the following plant?
A. Mustard

B. Sunflower
C. Dhatura
D

. China rose

Which of the following method of
breeding is used for cross pollinated
crops?

A. Mass Pedigree method

B. Inbreeding method

C. Recurrent selection method
D. All of these

Lac is secreted by-
A. Salivary glands
B. Cephalic glands
C. Cutaneous glands
D. Oral glands

Which of the following Auxin is
isolated from plants?

A. N.AA.
B. 24.D
C. LBA.
D. All of these

74, qohER sht TIqare stereeT e | © fore dte

75.

76.

T TS STt &9
A. @l

B
C. gqu
D

TOOT ST FHAT § S <t forer farfer
T SRINT TRt ST 22

A. e siETeret forfer
B. @S I fafer
C. 3rades =3 fafer
D. 3Wrh ot

TG Hferd BT 8-

A. dRUFIY

B. ki afar @
C. mdaafaa

D. e atad

77. {901 § 9 e 1o aTeut 8 ITH grar 82

A. TATT
B. 2473
C. smsfiT
D. 3URh Tt
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78.

79.

80.

In which of the following layer,
deposition of suberin is found?

A. Epiblema
B. Cortex
C. Endodermis

D. Pericycle

In which of the following phloem
parenchyma is found absent?

A. Monocotyledonous stem
B. Dicotyledonous stem
C. Both (a) and (b)

D. Dicotyledonous root

In Cockroach type of metamorphosis
found is-

A. Holometabolous
B. Hemimetabolous
C. Ametabolous
D

. Intermetabolous

78.

79.

80.

e 7 9 forg T W G o1 SAT=sTed TR
ST &7

B GiPACEl

e

AT

ey

AT Hgeeh T 4§ forer srgafterd erd

c o w>

oy
>

. T SIS A n

. g sfiewft o

. (M TE (@I

. 5 st sre

hishrel B YTIT ST STCAT ShTITauT 3T JehIK
2

A. iR

B. IfcUshridll

C. T

O 0O W >

D. 3=d: &IFdr
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AG -2
Crop Production and
Horticulture

81. In some areas of our country, chilli crop 8l.

is cultivated throughout the year due to
which of the following factors-

A. Hot summer

w

Chilling winter
C. Long winter

D. Mild winter

82. Mould board plough is- 82.

A. Primary tillage implements
B. Secondary tillage implements
C. Land levelling implements

D. Line sowing implements

83. Which one of the following is 83.

gynodioecious variety of papaya?
A. Pusa Delicious

B. Pusa Majesty

C. Coorg Honey Dew

D

. All of above

84.  Following nutrient element is 84.

responsible for initial root growth-
A. Nitrogen

B. Phosphorus
C. Potash
D

. Zinc

T IeUTE US SETTHehT

T <30 o F® W H Heforfiad 7 ford
T o SHIUT (47l ohl el qL THHL AT STl
g

A. 3TcTferss Tt

B. gawfld wat

C. ot srafer areft

D. Hrarfeet daf

forgt oete aer & 2-
A. ST ITehoT 3
B. fedtares syfvsshaor o
C. S FHeedishor 3=
D. R TS A%
BisiNiicnE g KRR EARIPEISRING]
ferem &2

A. gar oo

B. TS

C. Fiehsy

D. 3wk # ot

STt it UTfrek sgar & for e diwes e
STt BIaT &-

A. TTEESH

B. ®EGHRA

C. derT

D. &
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85.  Length of Gunter's chain is-

A.

33 Feet

B. 66 Feet
C.
D. 30 Feet

100 Feet

86. In flat topography having hard soil pan
obstructing downward movement of
water, the appropriate method of
drainage is-

A. Surface Drainage

O 0O W

Subsurface Drainage
BothA&B

None of the above

87. Banana is propagated through-

A

B
C.
D

Suckers

. Cutting

Rhizomes

. BothAandC

88. Mahamaya is a variety of following
crop-

A

Maize

B. Sunflower
C.
D. Pigeon pea

Paddy

85.

86.

87.

88.

T2t = il TS el -
A. 339

B. 66%IC
C. 1009
D. 30%ie

AHA TAATH Tt STHT H T Y T
it et ST AT T ST & Tt &, H ST

forepreft o1 Sfera aienT &-
A. I8 S R
B. StayH! STt fehre
C. ATEB3MI

D. Wk H & &g T

et 1 dael ferwreh gRT foRa STTar 22
A. TFd
B.
C. U

D. aMiATC

ETHT e et Y U foRe -
A. TR

B. gawEt

C. 9™

D. A&
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89.  Which of the following parts grow 89. frmferfaad & shie @ vt &fos THTTaR
horizontally? fe @ ¥

A. Rhizome of ginger

A. 37T hl Toha
B. Bulb of onion B. WIS &l Scsl
C. Tuber of potato C. A H &
D. Tap root of carrot D. TSR 71 518

90. Which of the following is not a system 90. fymferfad # 1= ©t et wEet o U9 st
of planting of fruit crops? qeafd T 82

A. Quincunx system A. degeft ueafa
B. Rectangular system B. 3dIh 9Efd
C. Hexagonal system C. WSTER Teafd
D. Open centre system D. el ¥ yomeft
91. Based on life cycle, Bermuda grass is- 91. aﬁaqa%aaaﬂwqragw%-
A. Annual A. TH sy
B. Biennial B. faarffa
C. Triennial C. Padfta
D. Perennial D. sgaia
92.  Instrument used to draw perpendicular 92. & AT R AIad [T ST o o1 Jh
line on the survey line is called- 3YShTOT T 119 ©-
A. Abny level A. TS oad
B. Optical square B. 3Tdiohel SHT
C. Plum-bob C. W
D. None of the above D. 39k d ¥ IS Tl
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93.  Which of the following statement is 93.

true-

A

94.  Seed Plot Technique is associated with 94.

Windbreak should be dwarf and
slow growing

Windbreak should be tall and quick
growing

Dwarf windbreak should be planted
at closer spacing

Tall windbreak should be planted at
wider spacing

which vegetable crop?

A

95.  Vermicompost is following manure- 95.
A.

96. Agricultural products ready for sale in 96.

Radish

B. Potato
C.
D

. Tomato

Onion

Bacterial manure

B. Biofertilizer
C.
D

. Fungal manure

Organic manure

the market is a type of-

A. Current assets

O 0w

Intermediate assets
Long-term assets

All of the above

FRATIRET ¥ -1 o ac ©-

A, TR e s T e gfee ATt g
ey

B. SR &1 vl Ud 3E e ot 8
ey

C. s argret 7efi shl Tt s gl 0
ftrer o e &

D. wel Srrelt et bl ae Sfereh gl 0
Qftrer fora s &

e Tl qeheiTeh oh1 Gral-Y fohel Hosil eret
qe

A. Helt

B. 3Tq

C. 9N

D. AT

HeE 1 @Te T ETe -
A. St @
B. a3tk
C. Sfo @
D. ®gdi @

TSI H forshi o foTe dom 6y 3came forer
TR o B &7

A. FaqH Hafd
B. HeFadt dafd
C. defenrfcte gufa
D. W& aeft
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97.  Which of following fertilizer is an 97. {1 o S ©1 Ik U HTal (o I9Th 87

Z\rgag.lc flertlllzer-h . A fii Tw 3
. Single super phosphate
B. o Y BREHS

B. Double super phosphate
C. Diammonium phosphate C. SHSTHIFH Brehe
D. Urea D. Ffw@n
98. Cultivation of maize and cowpea in 98. U & Wd § U Ud SISt ol Teh & 90T
distinct rows simultaneously at the same T STTT-3TT TRl o FaTs o Tt i &l
field is known as- o >
A. Intercropping A s ot
B. Intensive farming B gu &t
C. Mixed cropping C fubaen
D. Alternate farming D. TR @t
99. A farm plan should be- 99.  ue iy AT BT =fRT-
A. Flexible A, T=ffer
B. Rigid B. #3R
C. Cost ineffective C. ANTd 9Tl
D. None of these D. 3k H ¥ IS &l
100. Which of the following statement 100.  &rfr TTioT SRl (TR AR ot TH) o Trerer 7
regarding Regional Rural Banks (RRBs) frefefad & & S 97 9 Tod 87

is incorrect?
A. Established under recommendation

A. Tforen gtufa i R & dgd

of Narasimham Committee, 1975 T, 1975

B. Sponsored by Lead Bank ie. largest B. g de anf foret o werd a1e anfurfsaes
Commercial Bank of the district SRR

C. Loanto sme_lll farmers, artisans, C. w2 Terl, il Gurel % e il
weaker section of the society and
Agricultural labourers ST WfET HTgL T 0T ST

D. Sponsored by Lead Cooperative D. {5t o 3moft weer s grr yrnfsra

Bank of the district
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101. Which of the following is a European 101, FrpAferfia o shiw €t weft sht o forem

variety of radish? g9
A. Pusa Himani A. e femr
B. White Icicle B. g5 TS iYehat
C. Japanese White C. S a%he
D. Pusa Chetaki D. THT=ash!
102. Growing of maize and cowpea crops 102. wofenT Ue SRS o SISil oAl Ueh |1 fHreTeRt
simultaneously after mixing and seeding wwwm@mg_
their seeds together. It is called as-
A. Intercropping A, St e
B. Intensive farming B. o wdt
C. Mixed cropping C. faford wer
D. Alternate farming D. Tk @dt
103. The term Essential mineral element was 103. ATk @St ded I16€ T T fohteh
proposed by ------ oy feam T om?
A. Brey A o
B. Sorenson B. @R
C. Black C. s
D. Arnon and Stout D. 3 U8 VI3
104. which of the following fruit crop is 104. fo=faRad o fore weT et ST ST
propagated through air layering? W%WWW%
A. Mango A 3T
B. Grapes B. 3R
C. Kagzi lime C. wrﬁf‘f:ﬁarm
D. None of above D. 39Uh § IS Tal
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105.

106.

107.

108.

Weed dissemination takes place through
parachute appendages in the weeds of
following family?

A. Malvaceae
B. Asteraceae
C. Poaceae
D

. Solanaceae

The vegetables which are generally non-
acidic require to be processed at a
temperature of-

A. 100°C

B. 50°C

C. 115-121°C

D. 0-4°C

Which of the following is commonly
known as Motia?

A. Jasminum auriculatum

B. Jasminum sambac

C. Jasminum grandiflorum

D

. None of above

HCN toxicity is found in following
fodder crop-

A. Maize
B. Sorghum
C. Pearl millet

D. Berseem

105.

106.

107.

108.

1 4 & foher et o ERaai oA ferfereor
ORI HT T & Bielf 8-

BICEE)

TR

ot
CIGEL|

c o w >

afosrt St for wmT=ra: strefir 7 St & ot
feRer QT O S foRaT STTaT 22

A. 100 feift afcasa

B. 50 feift aifcea

C. 115-121 feift e

D. 0-4 feift afcaem

frretfetiaa o STraei & foraent wifaan et
ST 82

. ST wTeeh

. S et

. ST A IS T

foret = <t et H TerEfie TR oé
2-

i o O ©® >

o o w >

SPACE FOR ROUGH WORK / &% &Td & for&r sre

202062-VZGG-ENT-GM-M

Set - A



109.

110.

111.

112.

113.

For drainage of water, mole drains are
generally constructed with the help of
mole plough in-

A. Light soils

B. Heavy soils

C. Medium heavy soils
D. None of the above

Following is an example of biofertilizer-

A. Vermicompost

B. Blue green algae

C. Farm Yard Manure (FYM)

D. Compost

Which of the following is essential for
jam and jelly making?

A. Pectin, Acid and Sugar

B. Pectin and Sugar only

C. Acid and Sugar only
D.

Pectin alone

What is the diameter of clay particles?
A. 0.02-0.2mm

B. 0.2-2.0mm

C. less than 0.002 mm

D

. more than 0.002 mm

Edsali sugarcane matures in following
months-

A. 6
B. 12
C. 18
D. 24

109.

110.

111.

112.

113.

oAt skt frrehTelt o, Hiet gt sht FETIar &
Ol 3 SHTS STl 8-

A. Teh gt ¥

B. it fugtd

C. Ty ary fugh

D. SWIth ¥ & hIg T

et ek St 3ok T 3eTeLT B-
A. FCH @R

B. Hfia-sfa e

C. MR Hr @

D. HUR

S 37 St G e o fore Frefafaa &
T SATATIH &2

A. YT, Tftre 3R TRt

B. dct Yk I STt

C. Fadt UfHe 3T It

D. %ad JaH

ferert firgh (a/et) 3 ol ot = )T &2
0.02% 0.2 fr .

0.2% 2.0 frs,

0.002 foreft & =y

0.002 ot & a1fere

o w >

TSHTAT T {3 T8 § 9o STt 8-

6

12
18
24

©O o w>
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114. Which of the following is a biennial 114, f=fafaa o # = fgadfa gesit woe &2
vegetable crop?

A. S
A. Brinjal
: RIS
B. Onion B
C. chilli C. fird
D. Tomato D. ZH1IX
115. Soil buffering means resistance to 115, ger (forgh) o swar wfaie 1 919 § -
change in --------- B ufard a1 gt
A. Soil Texture A. YT hUITeh
B. Soil Structure B. HeTEEHAT
C. Bulk density C. TIdT 9cd
D. Soil pH D. Herdiua.
116. Available quantity of phosphorus in 116. & wt o RwHRE hit UTsL AT BT 2-
DAP is-
A. 36%
A. 36%
B 46% B. 46%
C. 56% C. 56%
D. 66% D. 66%
117. Green manure of sunn hemp should be 117. &3 1 &6 @e 1 e st A g o
incorporated in soil at following stage- ferermT =R
A. Growing stage A. TG ITTEAT
B. 50% flowering stage B. 50% USYTIEAT
C. Maturity stage C. vfgaameer
D. 25 days after sowing D. §aTS % 25 feai ae
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118.

119.

120.

121.

The limits of permitted benzoic acid in
Tomato sauce is-

A. 750 ppm
B. 100 ppm
C. 50 ppm
D. 25ppm

Farming in the areas with less than
750mm annual rainfall is called as-

A. Dry farming

B. Jhoom cultivation
C. Irrigated farming
D

. Flooded farming

For obtaining good production of maize,
following is the recommended dose of
nutrients-

A. 50:40:30 kg N:PpOx5:K20/ha
B. 75:50:35kg N:P>Og:K>O/ha
C. 100:60:40 kg N:P>Og:K>O/ha
D. 120:60:40 kg N: P05 : K90/ ha
Ca, Mg and S are known as --------
Nutrients in plant.

A. Macro Nutrient

B. Micro Nutrient

C. Primary Nutrient

D. Secondary Nutrient

118.

119.

120.

121.

ZHISU | H SISTIgeh 3TFed SUFNT hl ST
AT -

. 750 YAt um

. 50 W dt T

A
B. 100 9rdiun
C
D. 25drdiA.

750 for. . & S aTioes awt aTet &= § St

. AT Tt

TeFehT ST 3TTT ScdTe UTH i o feTT
ST T deall hl 7T &-

A.  50:40:30 .31 T35 : TR : MeT2IR.
B.  75:50:35 fob.7m. 711 : W - Mer@IRe.
C.  100:60:40 fo5. I7. 7T : WX : TR,

D.  120:60:40 5. 77, 775757 : % : WleT@IfR.

--- TTYeh e % &9 H ST STl &
A. &I IV acd

B. & Ve dcdl

C. STfHe e qedl

D. i dives dca
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122.

123.

124,

125.

A financial record of all the financial
activities of a farm business is known
as-

Financial statement
Financial report
Both A& B
Financial Accounts

Cow>

Organic matter content in Indian soil is
generally-

A. 0.5-1.0%
B. Lessthan 0.5%
C. 1.0-15%
D. 1.5-2.0%

Following is a mimicry weed of paddy-
A. Canary grass

B. Wrinckle grass

C. Pimpernel

D. Field bindweed

Which of the following is directly sown
vegetable crop?

A. Tomato
B. Cauliflower
C. Radish
D

. Onion

122.

123.

124.

125.

Teh 1Y SAaETd shi Gt fore e TTfcferferm st
e ot Stfireia sreerar -

A. Tort faaaor
B. forfr faaié
C. A3RBGIHI
D. foefr@ma

STTHAR W A JaTeAl § hrel-eh qaref i
T el &

0.5% 1.0%

0.5% & T

1.091.5%

c o w >

1.592.0%

11 5 & T T ToheTel TRUAAN 8-
. AIR/AET/EER
FUHIA

c

feroret

O

o0 ® »

fafafaa 9 S € gesit wH i @it
S[aTE ol STTeft 87

TR
et T
aeft

[N

o o w >

2]
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126. Which one of the following is not a 126. f=fIRad | © I €1 ST iy Teehit
function of Primary Agricultural U Gt (PACS) 1 &l et 82

Cooperative Credit Societies (PACS)? .
P o _ _ A. &I o= i Hefet ST
A. To distribute agricultural inputs o

among members
B. WQEI I SUHIH Feq3ll St =i, T

B. To supply consumer goods to

members such as sugar, wheat etc. e bt TTfef AT

C. To facilitate storage and marketing C. WUSRT S ferdor it Gferem s s
facilities and attracts local savings ST T S T SR BT

D. Provide training and guidelines for D. frret yerferemtit o fore gfsretor ot
lower functionaries TS e Y ET

127. Sugar and salt are associated with which 127. fqeforfiad o sreeRt 31 T8k i ©i aishan

of the following processes? o geferg 22

A. Vacuum dehydration A. I AStetaor
B. Freezing B. r;ﬂw

C. Osmotic dehydration C. qugur fAsteiaor
D. Solar dehydration D. 9K fAsicfienr

128. Which of following is a climbing annual 128. fferfiaa & shie @ e anfies o1 82
plant?

A e
A. Sweet Pea
B. Nasturtium B. ¥
C. Morning Glory C. wiffriar
D. All of above D. IWrh H |t
129. After following days of sowing, crown 129. 7% o TSIt SaTs o a1e e fort # fsher
root initiation takes place in wheat- 3% B ST &
A 21 A 21
C. 41 C. 41
D. 51 D. 51
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130. Blossom End Rot of tomato is caused 130. zg1eT 4 sdiey Ug e fAefafiad 1 foraes

due to- ma—d‘r%_
A. Insects A. Fie
B. Diseases B. =mfer
C. Nutrient deficiency C. 99 dcg i ST
D. All of above D. 3IWRE T Ot
131. The best time to take a farm's inventory 131. ity Hufer o 1 T 3T=T 99 &-
> A. FHf o i yeara &
A. At the beginning of agricultural year S e
B. At middle of agricultural year B. %
C. Atthe end of agricultural year C. Hyaishsiad
D. Atany time in a year D. aret | fereft off Tmer
132. Best irrigation method for Arid & semi- 132. U@ 37 Ue 31375 TAMI W, ST&T ol 58
arid areas where rainfall is scanty, soil is 1 BT 8, Tord) orers & qo A g At &
sandy & significant quan_tlty_of water et = S &, ot e o et o
lossess through evaporation is- .
A. Furrow Irrigation .
| A. e b=
B. Drip Irrigation B. eqw Rism
C. Sprinkler Irrigation C. dor =
D. Sub-surface Irrigation D. 3raH =g
133. Ammonium sulphate is following 133. ity aethe et o -
fertilizer- A q
A. Nitrogenous
B. Phosphatic B. ¥
C. Potassic C. e
D. Calcium fertilizer D. hfcsry ary
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134. Most commonly used type of pump for

135.

136.

137.

lifting water from surface water sources
like Tank, Canal & Well is-

A. Centrifugal pump

@

Piston pump
Rahat

o 0O

Submersible pump

Which of the following statements

regarding NABARD is false?

A. Rural planning and credit cell,
agricultural finance and
development cooperation,
agriculture credit department

B. Recommended by Nariman
Committee

Established on 12" July 1982

Recommended by Shivaraman
Committee

o 0

Which of the following plants is suitable
for ground cover?

A. Hollyhock
B. Gaillardia
C. Zinnia

D. Portulaca

Sesame is a crop of following family-
A. Solanaceae
B. Malvaceae
C. Asteraceae
D

. Pedaliceae

134. et il ¥ drere, T8 ud ] o =g

135.

136.

137.

T o] HoTH SATET T BTl feaTg

YT T THR 2-

A. 39S 9T

B. fi&eadq

C. ®

D. SeHfdsd 99

TeTE o Heieg § FefiRad & & i |1 e

A T2

A. TTHIOT RIS T ST YRS, Y fo
TS forenter ST, N 07 formT

B. T |l grr eIt

C. 12 TS 1982 i €1

D. e wfdfa gro srRifed

fatafaa 9 9 91 der gdg AT &
[SASER Y
SRS
. aféan
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138. Organic matter obtained- 138. wreifes ueTel ITH BIAT &-

A. O.C. x 1.724 A. TR FEA x 1.724
B. O.C. x 2.24 B. SIEfeh Sl x 2.24
C. 0.C. x 1.574 C. EfTeh H1eT x 1.574
D. O.C. x 2.74 D. ek SE x 2.74
139. Which of the following fruits are 139. frmferfaa # forer et st @t W o qdi
cultivated in coastal belt of India- a7 7 <h) STt &
A. Guava A. 3IHRG
B. Grapes B. X
C. Pineapple C. 3™
D. Citrus D. e arfia wet
140. Unit of measuring flow of water i.e. 140. 7t o6 sTETE AT Sl 1 THICyHE SRS
1m3/s (cubic meter per second) is T 2-
equals to- A 10 e
e, e, ot
C. 1000 liters/sec. C. 1000 Tfievashs
D. None of the above D. 3ITRk H & IS el
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AG -3

Elements of Animal AT o el TS Hakehe 1ot
Husbandry and Poultry
Farming
141. 'Steaming up' practice is followed in 141, fop wofter et e o1 fo Star
cattle- )
A. Dry cattle A, gE T
B. Lactating cattle B. @Y% T
C. Heifer C. = afan
D. None D. @is off Tt
142. Most economic important disease of 142. oAl & U ST ATt ST & § e
farm animal is- freh WU fomrY i € 82
A. Foot and Mouth Disease (FMD) A. GUF-HETHT
B. Mastitis B. 9T
C. Anthrax C. BT
D. Black quarter D. T fmram
143. Which of the following is the wrong 143. g7 @ qur ge i =i ©ft farfer argfera &2
method of milking?
A. ol e fafer
A. Full hand
B. Knuckling B. Sl D
C. Stripping C. aoaaiilﬁﬁr
D. None of the above D. SWIh § & IS el
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144. Karan-Fries was developed at NDRI,
Karnal by crossing tharparkar breed of

cattle with-

A

B.

C.

D.

Jersey
Holstein-Friesian
Brown Swiss

Short horn

145. The milk product which is made by
drying of milk is-

A

146. In dairy farming feed accounts for ----%

Curd

B. Butter
C.
D. Milk powder

Ghee

of total cost of production.
A. 30-35

w

C.
D.

147. Which of the following is not a dairy

65-70
85-90
45-50

product?

A
B.
C.
D.

Fermented milk
Soya milk
Rabri

Sandesh

144, .21 3RS, FEATA § ARIRFL T8
T 1 TSR Tt o A1 ST SHiaTeRt Shiul-

ShIsT shT Seafr <l 718 &-
srif

. ErE iR
EICERiST]
R

© o w >

145. g9 ! gETEH SR ST STl 314 3eUTE &-

146. < wIfHT H hie 1 @ Fe IcdTeH

30-35
65-70
85-90
45-50

Cow>

147, fefafed ® € sF 91 U < 3ca1E el
&2

. feRfoara g

S

wet

HawT

c o w >
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148.

149.

150.

151.

Black quarter in young farm animals is
caused by-

A. Clostridium chauvoei
B. clostridium novyi

C. Clostridium tetani
D

. Bacillus anthracis

Which component contributes to the
yellow colour of cow milk?

A. Calcium

B. Vitamin A
C. Beta-carotene
D. Lactose

Which of the following material is used
for construction of dairy process
equipments?

A. Stainless steel
B. Copper
C. Iron
D

. Platinum

Which of this livestock shows browsing
habit?

A. Sheep
B. Cattle
C. Goat
D

. None

148.

149.

150.

151.

AT SHETET o TRTHAT H B ST scieh FaTed
(T 2firam) fommt o e e 2-

A. FrEgfem e

B. Flifead Tiamg

C. Frgifssm feart

D. sifterd wenfed

TTRT 3T g foret et 2 SHmoT el gt 82
A. Sfceem

B. faafimt

C. dfer-da

D. wi@S

frafafaa 9 o forg gmft o6t ST 2=
fsrar Suerton o famtor o forg fera strar 82

A. &ToE A

B. dife

C. @

D. wifead

i @ forer et o o sSfT streq arn
ST 87

I

D)

ECail

. oS oft 7

O 0 W >
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152. Cereal grain is generally deficient in
amino acid-

A. Leucine
B. Tryptophan
C. Lysine
D

. None

153. How many days of incubation period is
found in quail?

A 21
17
28
35

O 0O W

154. Drug of choice for coccidiosis in poultry
is/are-

A. Tetracycline

B. Sulphur Drugs
C. Amprolium
D

. Bacitracin

155. The process by which milk is converted
into curd is called-

A. Pasteurization
B. Standardization
C. Condensing
D. Fermentation

152. TS H TR e wHiAT ufee o T
et -

e

[N

feaar
AT
. i oft Tt

O 0 W >

153. FeT u=t ¥ fohaw fam ek 3ieT 8 1 efafer
gt 87

A 21

B. 17

C. 28

D. 35

154. AT o 8 ATl A sam 6t

155.
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156. Which of the following contributes
highest in milk production in India?

A. Cattle
B. Buffalo
C. Goat
D

. Sheep

157. Leguminous fodder includes-
A. Berseem
B. Maize
C. Paragrass
D

. None

158. Which among the following khoa based
sweet is prepared by mixing khoa with
maida in about 3:1 ratio?

A. Burfi
B. Peda

C. Kalakand
D

. Gulabjamun

159. suitable fodder for silage making is-
A. Berseem
B. Maize
C. Paragrass
D

. None

156.

157.

158.

159.

frrerferiier o & fohereh g Wt o el
IcqTe | gatfier Irre o sirar 82

™
o9
EEal
g

c o w >

TTH O I T el =T 82
A. s

B. Haeh

C. T

D. @8 oft 7

o= o @ i i @vet strenfia fWatE, @ren
T HT h1 AT 3:1 o AT H ATt

I i STt &2
A, TH

B. UgT

C. &dhe

D. TATEISTHA

A SEH
B. HoRRT
C. W™
D. @5+t 72
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160. Which is the largest stomach
compartment in ruminants?

A. Reticulum
B. Omasum

C. Abomasum
D

. Rumen

161. Colostrum should be fed to a newborn
calf @----------- of its body weight?

O 0O W

| I S HEN

SN N

o L O
o

162. Which of the following is known as
'milk sugar'?

A. Fructose
B. Lactose
C. Maltose
D

. Sucrose

163. Which bird shows highest egg weight?
A. Chicken

B. Turkey

C. Goose

D

. Guinea fowl

160.

161.

162.

163.

STTAT 3 SITe ULl ok U 31 i €T

feea Ter a1 Brar 82
ewmaw

D

S enate)

USTHTEH
LX)

c o w >

TSI IS ol G 3G IR 959 &

FrfctRaa # 9 foret gy 1o o6 & H ST
ST 87

A, FRS

B. TN

C. AR

D. G

fore T o 312 erd STfRIeh o5 o BId &7

o 0w »
E:
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164.

165.

166.

167.

Which of the following is the milch
breed of goat in India?

A. Black Bengal
B. Jamunapari
C. Nellore

D. Ganjam

Boiling point of milk depends on-
A. Volume
B. Pressure
C. Density

D. Surface tension

In dry northern part of India the long
axis of animal house should be in the
direction of-

A. Any direction
B. North-West
C. North-South
D. East-West

Which of the following is the advantage
of artificial insemination?

A. Genetic improvement

B. Control of sexually transmitted
diseases

C. Maintenance of breeding records
D. All of the above

164.

165.

166.

167.

frfaifaa & @ & ot TR T it Rt
39 IeUTe o fordl yrrferd €2

A. &I S

ST

D

TAR

HSE)

O 0 W

ST FAYTF 1T ot -
ST T
CCICRY

Hcd UL

O 0 @ >

I8 qH 1 W

R o Y[k a1 &1 § U] 78 shi celard i
S e s/ BT =i

A. forelt oft femmm o

B. IW-afaw
C. Iu-afero
D. d-ufzm

frfeTRad & & i & i Tt o Ay
&

. SATLSATTRTR G

. I Gty T Rt i
EEEEReC IR ICACRARRCICIE

. JUh Tt

U 0O @™ >
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168.

169.

170.

171.

172.

Diseases which affect egg laying
capacity of birds are-

A. Fowl typhoid
B. Fowl pox

C. Salmonellosis
D. All of the above

Which mineral is macro mineral for
dairy cattle?

A. Cu
B. Ca
C. Fe
D. None

How many milk teethes are found in the
calves?

A. 20
B. 32
C. 40
D. 44

Broiler starter ration contains protein
percentage-

A 22
B. 19
C. 17
D. 15

Land holding of 1 hectare can support --
------ number of cattle with followers-

A. 8-10
B. 15-20
C. 34

D. 12-14

168.

169.

170.

171.

172.

Tl o SFUST < ol &FHAT TTierd shed STt
formTY €-

BT IRPIRS

ST RIE]

AT

. 9wt

OO0 W >

UTE TR ¥ I |1 B3R e 22
I

hfceEm

S lore)

. oS oft 7

OO0 W >

g 2 g1 % e < T T 2
20
32
40
44

ST 2L U § Tohae gfererd Tidi grar
22

A. 22

B. 19

C. 17

D. 15

T B fH T o Haf¥w ot 3
e ST ST YTS0T €1 HehelT 27

8-10

15-20

3-4

12-14

oo w>»

Co0Ow>
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173. Which of the following hormone is 173. fefeafiad o & i |1 8 g8 3aR

responsible for milk let down? o Satert grar 82
A. Oxytocin A. AT
B. Prolactin B. Wit
C. Adrenaline C. Tt
D. Growth hormone D. MY
174. When a pregnant cow should be shifted 174, mifv e Rt et O (St 178) W e
to maternity pen? @A TMRA?
A. 2-3 weeks prior to calving A. gfd ¥ 2-3 THTE TEe
B. 4-5weeks prior to calving B. I 4-5 WIS et
C. 7-8 weeks prior to calving C. ;mﬁr@( 7-8 TUTE Ueat
D. 10-12 weeks prior to calving D. ;qudﬁ 10-12 9HTE 92t
175. Post mortem examination should not be 175. oyl # B et ford formd & 9 asgsl
conducted in animals died due to- 919 GTeT0T KT Yfdsiferd 22
A. Foot and Mouth Disease (FMD) A W;igqam
B. Anthrax B. &M
C. Mastitis C. oHa T
D. Black quarter D. U ST T
176. Toned milk contains how much % fat 176. g et # fehaft wfcrere = wef e Tfea
and % SNF? 318 BT 82
A. 6.0and 9.0 A. 6.0Td9.0
B. 45and 85 B. 45Td8.5
C. 3.0and 85 C. 3.0TE8.5
D. 1.5and 9.0 D. 1.5T99.0
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177.

178.

179.

180.

181.

pH of normal milk at 15°C is ---------
A. 4
B. 51
C. 6.6
D. 9

Operation flood/white revolution was
launched on --------- year?

A. 1950
B. 1957
C. 1960
D. 1970

How many permanent teethes are found
in the sheep?

A. 20
B. 32
C. 40
D. 44

The working principle of cream
separator machine is based on-

A. Density difference

B. Temperature difference
C. Pressure difference
D

. None of them

What is the duration of gestation period
of goats?

A. 90-95 days
B. 105-110 days
C. 145-150 days
D. 65-70 days

177.

178.

179.

180.

181.

15 %ﬂ%ﬁ%&aﬁwmaﬁwﬁ@m

OoOw>
(o]
(2]

HTIH FeAS AT A shifdl h & o
& H Al TS?

A. 1950

B. 1957

C. 1960

D. 1970

g ¥ fope Tt afd Ul ST &2

A. 20

B. 32
C. 40
D. 44

S et I 1 1 foreeia fhe
amenfia 87

PECE R ERCEY

AT H R T

qTE T A T

ST 9 1S Tl

TRt o MehTet Sl srafer feraHt et 22
90-95 T

105-110 fe

145-150 T
65-70 &

c 0o w>

o w >
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182. Which poultry breeds possess pea comb 182. iff ok sl & T&eT | Ut Shiel T&TOT TTAT ST

characteristics? %

A. Australorp A, e

B. Plymouth rock B. ARy ik
C. RIR C. I,
D. Leghorn D. oeEN

183. Ranikhet disease in poultry is caused by- 183. fifa} & R ST ATt e fomT 1 g

A. Virus
A. faug
B. Bacteria
B. e
C. Protozoa C. gEoT
D. Fungus D. %<
184. Completely eradicated disease of farm 184. ogyaAl # B ATl i €T fomrt wRa
animals in India is- rqol &9 © gHT & =R 87
A. Mastitis A, AT
B. Rinderpest B. fletiw
C. Foot and mouth Disease C. W:\q:ng
D. Anthrax D. S

185. Freezing point helps to check which of 185.  fewish ferrg, gur # Fferiiad & & i €t

the following adulteration in milk? fireTrae &Y St 9 T Heg idT 82
A. Sugar adulteration A. = fuemEe
B. Water adulteration B. Ul &l facitae
C. Gas adulteration C. Mg i fyamae
D. Colour adulteration D. &t fiemae
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186.

187.

188.

189.

Hay contains maximum moisture
percentage-

A. 15-20
B. 20-25
C. 25-30
D. None

Two central permanent incisors teeth
development exhibit age of cattle in
year?

A 15
B. 25
C. 35
D. 45

Pinpoint hemorrhage at the tip of the
proventricular glands of the poultry is
the pathognomic lesion of (disease)-

A. Ranikhet Disease

B. Infectious Bursal disease
C. Coccidiosis

D. All of the above

Homogenization of milk is not
recommended for manufacture of which
of the following-

A. Whole milk powder
B. Cheese

C. Flavoured milk

D. Butter

186.

187.

188.

189.

¥ & 3Aferehem el o1 wfcrerer frerffea €

A. 15-20
B. 20-25
C. 25-30
D. @S off 7t

T B 2 Shesfier Tt SO <t o e
ferd= et 3 35 ol q3iar 22

A. 15

2.5

3.5

45

O 0 w

Tt 7 B ot forer formT  Seidishert
Tifer o 219 | fiurde femist ar S 2
A. THTEd fommt

B. T-h{oRTEd SR U

C. wFEERE™

D. 39 @+l

et & fes o 3 g, g
BT 1 Rt T o o 37

A. |qul grer <ot fmfor &
B. == fmior®
C. ifera g o fwfor o
D. gag fAmior &
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190.

191.

192.

193.

Anaemia is an important clinical
sign/symptom of which protozoal
disease of farm animals-

A. Babesiosis

B. Theileriosis
C. Tuberculosis
D. Anthrax

Cotton seed cake contain antinutritional
factor-

A. Saponin
B. Tannin
C. Gossypol
D. None

Effectiveness of cleaning of dairy
equipments depends on-

A. Contact time
B. Temperature
C. Concentration

D. All of the above

What is the Duration of estrous cycle in
cattle?

A. 27 days
B. 21 days
C. 13 days
D. 16 days

190.

191.

192.

193.

AT (Greht ) foper SrefterTofter formmd
T HEaqul e 82
A. Iafenfed

O 0 W

FTE Gt § TS ugred I ST 2-
CRICIE]

ESic)

et

. i oft 7

O 0w »

ST TN hT TS, ohl THTERICTdT
FA 8-

. TR GHT T

ATIshY T

ST 9

. I T W

O 0 W >
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194. Milk protein consists of which of the 194. gor i # Frrferfiaa H & shi | s grar

following constituents? )
A. Triglycerides A. ZEficesed
B. Carotene B. FUdH
C. Tocopherol C. il
D. Whey and Casein D. =@ Ud T
195. Milking of cow should be completed 195. w7y <k et fefertT tarfer o fet ot <t St
within- TTe?
A. 3 minutes A. 3fie
B. 7 minutes B. 7fe
C. 15 minutes C. 15fme
D. 20 minutes D. 20fme
196. Which of the following water soluble 196. ffcrfiad & & i @1 I 7 g
vitamins are present in milk? ﬁaﬁqggﬁqﬁcﬁgﬁmao
A. Vitamin'A' A. Tt
B. Vitamin 'B' B. faerfa <t
C. Vitamin'D' C. faertmm <
D. Vitamin 'E' D. faafim
197. Which of the following factors causing 197. Tor=e g8 IcTeT H hiF W HIeh ST Bl
hindrance in clean milk production? )
A. Diseased animal A ﬁTﬁq’Q;[
B. Dirty hands of milker B. afra:\gﬁmﬁéﬂ%m
C. Dirty utensils C. Tiedq
D. All of the above D. W ot
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198. The process of producing offspring 198. 3t 3rea AR 13T STl o R Tl HIET 6 ATk

particularly through mating two pure T % BeAETeT ST % 30T 81 bl ufshar
lg;(lalee(zlj_mdlwduals of different breed is =
A. Line breeding A. SIS
B. Inbreeding B. SR o
C. Cross breeding C. HH IS
D. None of the above D. SWIth § 9 IS el
199. Name the disease against which 199. uerfeae =t # foret formdt 3 forg T
vaccinations generally preferred on a Tfereres SehTeRToT fohaT SITaT 82
day one old chicks-
A.y Ranikhet Disease A. Tt T
B. Gumboro disease B. TSI T
C. Marek's Disease C. W&
D. All of the above D. sudh aeft
200. Mendel's first law of inheritance is- 200. Heet o S T TEAT (43 &-
A. Law of independent assortment A. Wwwﬁaﬁ
B. Law of segregation B. &R0 &l Haw
C. Law of dominance C. Ydodi =T 99w
D. None of the above D. 39U<H § U IS Il
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SET-A

3T Sifehd T T O 36T rfereRa™ 31k : 200
Time for making answers : 3 Hours Maximum Marks : 200
qNe:

1. FEAAYRAET AT AL - AG 1, AG 2, AG 3 3T W # et okt feraor fRmgem 2 -
() TATAT - AG 1 - Wifdes o, = o,
T e e oI - 803w - 180T
(i) TSI 9T - AG 2 - ®HE IeUTET TS SeETtehT - 603k - 81-140 TN
(i) TATATT - AG 3 - TYUTE o Al Tl HaRbe Ui - 60 3k - 141-200 T
ek T2T 1 31k T 8 | At U7 BT oAt AT 2 |
2. Wi % I, & T OMR ST (3TTaRsie) W eifera hifvm |
3. SHUTTCHe, Hodieh Tl ohaT SITeRTT |
4. Tore off T8 o HTHIe AT AN TS TS WIATSEA Tl T SART A1 8 |
5. OMR STIIE (ATERTE) ST TANT T THA THT RIS SATILT T hi/ald o I8 We A 4t
ITH Ag I1 firerae onfe ug W fees wereaesw o T g 9 |

Note :
1. This Question Booklet contains three Section - AG 1, AG 2 and AG 3.

The distribution of marks in these parts are as follows -
(i) First Part - AG 1 - Physics, Chemistry,

Mathematics and Biology - 80 Marks - 1-80 Question
(if) Second Part - AG 2 - Crop Production and
Horticulture - 60 Marks - 81-140 Question

(iti) Third Part - AG 3 - Elements of Animal
Husbandry and Poultry Farming - 60 Marks - 141-200 Question
Each question contains 1 marks. All question are compulsory.
Indicate your answers on the OMR Answer-Sheet provided.

No negative marking will be done.
Use of any type of calculator or log table and mobile phone is prohibited.

a > N

While using Answer-Sheet care should be taken so that the Answer-Sheet does not get torn
or spoiled due to folds and wrinkles.
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